
LLM

1. Choose the word which best expresses the meaning of the word ‘STRINGENT’.

(A) Tense
(B) Stringy
(C) Strict
(D) Causing to Shrink

2. Choose the proper sequence for completing the sentence given below.

If you need help
P  : promptly and politely
Q : ask for attendants
R : to help our customers
S : who have instructions

(A) SQPR
(B) QPSR
(C) QSRP
(D) SQRP

3. Find the correctly spelt word

(A) Committee
(B) Comitte
(C) Commitee
(D) Comiittee

4. ‘To smell a rat’ means

(A) To see signs of plague epidemic
(B) To get bad smell of a bad dead rat
(C) To suspect foul dealings
(D) To be in a bad mood
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Direction: From the given alternatives, choose the one which best expresses the given 
sentence in Indirect/Direct speech.

5. His father ordered him to go to his room and study.

(A) His father said, "Go to your room and study."
(B) His father said to him, "Go and study in your room"
(C) His father shouted, "Go right now to your study room"
(D) His father said firmly, "Go and study in your room."

6. "Please don't go away", she said.

(A) She said to please her and not go away
(B) She begged me not to go away.
(C) She told me to go away.
(D) She begged that I not go away.

7. Choose the word which is the exact opposite of the word ‘QUIESCENT’

(A) Active
(B) Dormant
(C) Weak
(D) Unconcerned

Direction(Qns.No.8 to 9) : Pick out the most effective word from the given words to 
fill in the blank to make the sentence meaningfully complete.

8. It _________ that Prashant will not be selected for the post.

(A) feels
(B) looks
(C) believes
(D) seems

9. The miser gazed _______ at the pile of gold coins in front of him.

(A) avidly
(B) admiringly
(C) thoughtfully
(D) earnestly
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Direction(Qns.No.10 to 13) : Study the following table chart and answer the questions.

10. What is the difference between the number of students passed with 30 as cut-off marks in
Chemistry and those passed with 30 as cut-off marks in aggregate?

(A) 3
(B) 4
(C) 5
(D) 6

11. If at least 60% marks in Physics are required for pursuing higher studies in Physics, how 
many students will be eligible to pursue higher studies in Physics?

(A) 27
(B) 32
(C) 34
(D) 41

12. The percentage of number of students getting at least 60% marks in Chemistry over those
getting at least 40% marks in aggregate, is approximately what according to the table 
chart?

(A) 21%
(B) 27%
(C) 29%
(D) 31%
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13. The number of students scoring less than 40% marks in aggregate is

(A) 13
(B) 19
(C) 20
(D) 27

Direction: Read the passage given below and answer the questions

Gandhiji recognised that, while all men should have equal opportunity, all did not have
the same capacity. Some had the ability to earn more than others. But he believed that those who
had talent should use it wisely and well. Gandhiji said that he would allow a man of intellect to
earn more and not suppress his talent. But it was his view that the bulk of his larger earnings
should go to the common fund. Those with talent and opportunity would find their fulfillment as
trustees. Gandhiji extended this concept of trusteeship to cover all fields of life.

14. Trusteeship concept of Gandhiji is

(A) a philosophy
(B) applicable to social life only
(C) applicable to all fields of life
(D) irrelevant today

15. According to Gandhiji, one can serve the society

(A) if one is talented
(B) if one used his talent wisely
(C) if one earned well
(D) if one worked honestly

16. The title of the passage should be

(A) Gandhiji’s Character
(B) Gandhiji’s Views
(C) Gandhiji’s Services
(D) Gandhiji’s Philosophy

17. The meaning of ‘Trustee’ is a

(A) person to whom another’s property or management of another’s property is 
entrusted 

(B) state official who executes will and trusts
(C) persons having confidence
(D) number of trusts
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18. Gandhiji believed that a man of intellect should

(A) earn as much as he needs
(B) earn for other, not himself
(C) earn more and not suppress his talent
(D) live on charity

Direction  : Choose a word which is nearly the same in meaning to the word given in 
capital

19. DEVISE

(A) Disorganize
(B) Invent
(C) Destruct
(D) Prepare

20.

Direction  : Choose a word which is nearly the same in meaning to the word given in
capital

COMPENDIUM

(A) Compilation
(B) Abridgement
(C) Manuscript
(D) Article

21.

Direction  : Choose a word which is nearly the same in meaning to the word  given in
capital

LYNCH

(A) Kill
(B) Hand
(C) Madden
(D) Shovel

Direction : Pick out the most effective word from the given words to fill in the blank to 
make the sentence meaningfully complete.

22. Many _______________ decisions were taken at the meeting.
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(A) hectic
(B) histrionic
(C) historic
(D) historical

23. Direction : Pick out the most effective word from the given words to fill in the blank to 
make the sentence meaningfully complete.

The juice _______________ good.

(A) taste
(B) tastes
(C) is tasted
(D) was tasted

Direction : Choose a word which is nearly opposite in meaning to the word given in 
capital

24. VETO

(A) Denial
(B) Interdiction
(C) Embargo
(D) OK

25. 

Direction : Choose a word which is nearly opposite in meaning to the word given in 
capital

ERUDITE

(A) Scholastic
(B) Savvy
(C) Studious
(D) Ignorant

[GENERAL KNOWLEDGE]
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26. In  which  city  the  annual  UN  climate  change  conference  (COP24)  opened  on  3rd
December, 2018 with the goal of finalizing the implementation guidelines for the Paris
Climate Change Agreement

(A) Paris, France
(B) Katowice, Poland
(C) London, England
(D) Tokyo, Japan

27. Which group of eminent personalities received the Bharat Ratna, the highest level of the 
civilian award in India for 2019?

(A) C. N. R. Rao, Pandit Bhimsen Gururaj Joshi, Jayaprakash Narayan
(B) Sachin Tendulkar, Atal Bihari Vajpayee, Madan Mohan Malaviya
(C) Pranab Mukherjee, Bhupen Hazarika, Nanaji Deshmukh
(D) Madurai Shanmukhavadivu Subbulakshmi, Amartya Kumar Sen, Jehangir Ratanji 

Dadabhoy Tata

28. Which one of the following sets of States touches the boundary of Bangladesh?

(A) Sikkim, West Bengal, Meghalaya, Mannipur
(B) Sikkim, Tripura, Assam, Nagaland
(C) West Bengal, Manipur, Mizoram, Assam
(D) West Bengal, Assam, Tripura, Mizoram,Meghalaya

29. Who is the author of the book “The Dhoni Touch”?

(A) Bharat Sundaresan
(B) Kapil Dev
(C) Ayon Sengupta
(D) Pushpesh Pant

30. According to the ‘Global Carbon Project’, what is the place of India as emitter of carbon 
dioxide in the world?

(A) First
(B) Second
(C) Third
(D) Fourth

31. Joint military exercise “Hand in Hand” is conducted between the militaries of which 
countries
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(A) India – Thailand
(B) India – Bhutan
(C) India – China
(D) India – Myanmar

32. MOOCs stand for

(A) Multimedia Offering Online Courses
(B) Mass Open Online Courses
(C) Massive Open Online Courses
(D) Management of Online Courses

33. The Report of 3-Member Committee on Reform of Legal Education had recommended 
the constitution of

(A) National Legal Knowledge Council (NLKC)
(B) National Legal Education Council (NLEC)
(C) National Committee on Legal Education (NCLE)
(D) Board of Legal Education in India (BLEI)

34. Source of legal authority of India

(A) Supreme Court of India
(B) Parliament of India
(C) Constitution of India
(D) Prime Minister of India

35. ‘Union with strong Centre’ is taken from

(A) Canada
(B) Germany
(C) Italy
(D) USA

36. How long can a Presidential Ordinance remain in force?

(A) Six months
(B) Five months
(C) Three months
(D) No time 

37. Who is the present Chief Election Commissioner of India?

(A) Sunil Arora
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(B) Arvind Saxena
(C) Shaktikanta Das
(D) H L Dattu

38. Entomology is the science that studies

(A) behaviour of human beings
(B) the origin and history of technical and scientific terms
(C) the formation of rocks
(D) insects

39. ICAO stands for

(A) International Civil Aviation Organization
(B) Indian Corporation of Agriculture Organization
(C) Institute of Company of Accounts Organization
(D) None of the above

40. Joule is the unit of

(A) Temperature
(B) Pressure
(C) Energy
(D) Heat

41. National Anthem was first sung on

(A) December 27, 1911 during the Indian National Congress Session at Calcutta
(B) January 24, 1950 by the Constituent Assembly of India
(C) January 26, 1959 by the Government of India
(D) None of the above

42. The Scottish bacteriologist who discovered penicillin was

(A) Alexander Fleming
(B) Albert Einstein
(C) Archimedes
(D) Aryabhatta

43. The Olympic Flame symbolises

(A) unity among various nations of the world
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(B) speed, perfection and strength
(C) sports as a means for securing harmony among nations
(D) continuity between the ancient and modern games

44. As per the latest report of World Steel Association, which is the world's second-largest 
steel producing country?

(A) India
(B) Japan
(C) Turkey
(D) Brazil

45. Which IIT researchers developed smart phone-based system to detect adulteration in 
milk?

(A) IIT Roorkee
(B) IIT Kanpur
(C) IIT Chennai
(D) IIT Hyderabad

46. Which committee has been constituted by the Union Government to continuously 
monitor the solutions to air pollution?

(A) Bhure Lal committee
(B) C.K Mishra committee
(C) Sunita Narain committee
(D) Harsh Vardhan committee

47. India's longest rail-cum-road bridge "Bogibeel Bridge" is located in the state of

(A) Jharkhand
(B) Gujarat
(C) Haryana
(D) Assam

48. The World Forestry Day falls on 

(A) 21st January
(B) 21st July
(C) 21st September
(D) 21st March
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49. Medha Patkar is associated with

(A) ‘Chipko’ Movement
(B) Narmada Project
(C) Tiger Project
(D) ‘Save the Earth’ Movement

50. The Earth Summit was held in 1992 at 

(A) Montreal
(B) Stockholm
(C) Vienna
(D) Rio de Janeiro

 (Analytical & Reasoning Capability)

51. How many numbers between 100 and 300 begin or end with 2?

(A) 100
(B) 110
(C) 120
(D) 180

52. Count the number of squares in the given figure:

(A) 32
(B) 30
(C) 29
(D) 28

53. Today is Monday. After 61 days it will be

(A) Saturday
(B) Wednesday
(C) Sunday
(D) Thursday
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54. Which one of the following is not a prime number?

(A) 31
(B) 61
(C) 71
(D) 91

55. A person takes a loan of Rs. 200 at 5% simple interest. He returns Rs.100 at the end of 
1year. In order to clear his dues at the end of 2years, he would pay 

(A) Rs.100
(B) Rs.105
(C) Rs. 110
(D) Rs. 115.50

56. ‘Face’ is related to ‘Expression’, in the same way ‘Hand’ is related to 

(A) Gesture
(B) Work
(C) Handshake
(D) Pointing

57. In a code CORNER is written as GSVRIV. How can CENTRAL be written in that code?

(A) DFOUSBM
(B) GIRXVEP
(C) GJRYVEP
(D) GNFJKER

58. If ‘A’ is the mother of ‘B’ and ‘C’; and ‘D’ is the husband of ‘C’, then what is the
relationship of ‘A’ to ‘D’?

(A) Mother
(B) Son-in-law
(C) Mother-in-law
(D) Aunt
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Direction: Following Question consists of a statement followed by two arguments
numbered I and II. Consider the statement and the following assumptions
and decide which of the assumption is implicit in the statement.

59. Statement: 
In Bombay, trains are indispensable for people in the suburbs to reach
their places of work on time.

Assumptions: 
I. Trains are the only mode of transport available in the suburbs of Bombay.
II. Only trains run punctually.

(A) Only Assumption I is implicit
(B) Only Assumption II is implicit
(C) Neither I nor II is implicit
(D) Both I and II are implicit

60. Find the next letter pattern in the series: FAG, GAF, HAI, IAH, ____

(A) JAK
(B) HAL
(C) HAK
(D) JAI

Direction : The following question consists of a statement followed by two arguments, I and II.
Read the statement and arguments and choose the answer from the options given below:

61. Statement : Should there be reservation of seats and posts on communal basis?
Arguments : I.   Yes.  It will check most of the inter-communal biases.

 II.   No.  Ours is a secular state.

(A) Only argument I is strong
(B) Only argument II is strong
(C) Either I or II is strong
(D) Neither I nor II is strong 

62. Statement : Should workers be allowed to participate in the management of 
factories  in India?

Arguments :  I.   Yes.  It is the present management theory.
II.   No.  Many workers are illiterate and so their contributions will 
       not be of any value.

(A) Only argument I is strong
(B) Only argument II is strong
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(C) Either I or II is strong
(D) Neither I nor II is strong 

63. Statement: Should we impart sex education in schools?
Arguments: I.  Yes, all the progressive nations do so.

II. No, we cannot impart it in co-educational school.

(A) Only argument I is strong
(B) Only argument II is strong
(C) Either I or II is strong
(D) Neither I nor II is strong 

64. Statement: Should government jobs in rural areas have more incentives?
Arguments: I.  Yes. Incentives are essential for attracting government servants there.

II. No. Rural areas are already cheaper, healthier and less complex than 
     towns.  So, why offer extra incentives?

(A) Only argument I is strong
(B) Only argument II is strong
(C) Either I or II is strong
(D) Neither I nor II is strong 

65. Statement: Are marriages based on well-matched horoscopes more successful than 
other marriages?

Arguments: I.  Yes, there is no possibility of rifts or ups and downs as the horoscopes 
     have already been studied well.
II. No, such marriages are rather dull.

(A) Only argument I is strong
(B) Only argument II is strong
(C) Either I or II is strong
(D) Neither I nor II is strong 

66. Nithya  is  Sam’s  sister.   Morgan  is  Sam’s  father.   Selvan  is  Rajan’s  son.   Rajan  is
Morgan’s brother. How is Nithya related to Selvan?

(A) Daughter
(B) Sister
(C) Cousin
(D) Mother
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67. In a certain code, if ‘they shouted loud’ is written as ‘415’ and ‘loud music heard’ is 
coded as ‘761’, then what is the code for ‘music’ in the given code language?

(A) Either ‘4’ or ‘6’
(B) 5
(C) 1
(D) Either ‘6’ or ‘7’

68. Among five friends J, K, L, M and N each having a different number of pencils. K has 
more pencils than N but less than L. M has more pencils than L. J neither has the most 
nor the least number of pencils. Who amongst the following has the lowest number of 
pencils?

(A) N
(B) M
(C) L
(D) Cannot be determined

69. In a certain code language, ‘SEAL’ is coded as ‘NDGV’ and ‘LION’ is coded as 
‘PRKO’. In the same code language, ‘HOLD’ will be coded as:

(A) FOQK
(B) ENRK
(C) EOQR
(D) OMSJ

70. Shankar and Ganesh walked 150 m towards East. Shankar turned left and walked 100 m. 
Ganesh went straight for another 100 m. Afterwards Ganesh turned to right and Shankar 
turned left. In which direction are they facing now?

(A) East and North
(B) West and South
(C) North and South
(D) East and South

Direction : In the question given below, a statement is followed by two assumptions I and II.
An assumption is something supposed or taken for granted. You have to consider
the statements and following assumptions to decide which of the assumption is
implicit in the statement. 

   
71. Statement :  Double your money in 5 months. An advertisement.
      Assumptions : I. The assurance is not genuine.
                             II. People want their money to grow.
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(A) If only assumption I is implicit
(B) If only assumption II is implicit
(C) If both I and II are implicit
(D) If neither I nor II is implicit

72. Statement :     Hindi movies are also responsible for increase in violence in the society.
       Assumptions : I. People see Hindi movies.
                                II. People learn from violence contained in Hindi movies.

(A) If only assumption I is implicit
(B) If only assumption II is implicit
(C) If both I and II are implicit
(D) If neither I nor II is implicit

73. Statement : ‘Smoking is injurious to health’ – Warning on cigarette pack.
      Assumptions :  I. People take careful notice of the advertisement.
                               II. People read the matter printed on a cigarette pack.

(A) If only assumption I is implicit
(B) If only assumption II is implicit
(C) If both I and II are implicit
(D) If neither I nor II is implicit

74. Statement :      Journalism is full of risk.

     Assumptions :  I. All journalists are killed in their duties..
                               II. The lives of all the journalists are not protected.

(A) If only assumption I is implicit
(B) If only assumption II is implicit
(C) If both I and II are implicit
(D) If neither I nor II is implicit

75. Statement :      ‘A vehicle is required on rent’ - An advertisement.
       Assumptions :  I. All types of vehicles are available on rent.
                                 II. People read the advertisements.

(A) If only assumption I is implicit
(B) If only assumption II is implicit
(C) If both I and II are implicit
(D) If neither I nor II is implicit
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Direction : Find the odd one out.

76. 835, 734, 642, 751, 853, 981, 532

(A) 751
(B) 853
(C) 981
(D) 532   

77. Direction : Find the odd one out.

1, 4, 9, 16, 23, 25, 36

(A) 9
(B) 23
(C) 25
(D) 36

78. The length of the bridge, which a train 130 metres long and travelling at 45 km/hr can 
cross in 30 seconds, is:

(A) 220m
(B) 225m
(C) 245m
(D) 250m

79. Two trains running in opposite directions cross a man standing on the platform in 27
seconds and 17 seconds respectively and they cross each other in 23 seconds. The ratio of
their speeds is

(A) 1:3
(B) 3:2
(C) 3:4
(D) None of the above

80. A, B and C can do a piece of work in 20, 30 and 60 days respectively. In how many days 
can A do the work if he is assisted by B and C on every third day?

(A) 12 days
(B) 15 days
(C) 16 days
(D) 18 days
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81. Sam purchased 20 dozens of toys at the rate of Rs. 375 per dozen. He sold each one of
them at the rate of Rs. 33. What was his percentage of profit?

(A) 3.5
(B) 4.5
(C) 5.6
(D) 6.5

82. Three unbiased coins are tossed. What is the probability of getting at most two heads?

(A) 3/4
(B) 1/4
(C) 3/8
(D) 7/8

Direction: Given below are some statements followed by two arguments. Read carefully 
and decide which of the arguments strongly support the statement.

83. Statement:  Should the pay scale and conditions of service of government employees be 
made applicable to   private sector employees?

Arguments:  I.  No, this will develop inertia, inefficiency and would adversely affect    
     spirit of Competition.

                         II. Yes, this will enhance dedication to work and institutional loyalty.

(A) Argument I is strong
(B) Argument II is strong
(C) Both I and II are strong
(D) Neither I nor II is strong

84. 

Direction: Given below are some statements followed by two arguments. Read carefully 
and decide which of the arguments strongly support the statement.

Statement:     Should military training be made compulsory for all college and university
                           students?
     
      Arguments:  I.Yes, this will develop  in them a sense of punctuality and discipline.

II. No, military training should be given only to those students who are  
physically fit.

(A) Argument I is strong
(B) Argument II is strong
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(C) Both I and II are strong
(D) Neither I nor II is strong

85. Which word does NOT belong with the others?

Guitar, Flute, Cello, Violin

(A) Guitar
(B) Flute
(C) Cello
(D) Violin                   

86. Play is to actor as concert is to

(A) symphony  
(B) musician
(C) piano
(D) percussion

87. Window is to pane as book is to

(A) novel
(B) glass
(C) cover
(D) page   

Direction : Select the related pair that has the same relationship as the given pair of words.

88. Surgeon : Scalpel :: ?

(A) Musician :  Instrument
(B) Carpente

r  
:  Cabinet

(C) Sculptor  :  Chisel
(D) Baker      :  Oven

89. Horse : Hoof :: ?

(A) Man : Foot
(B) Dog : Black
(C) Pais

a 
: Rupee

(D) Pen : Pencil
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90. Cells : Cytology :: ?

(A) Worms : Ornithology
(B) Insects : Entomology
(C) Diseases : Physiology
(D) Tissues : Morphology

91. Nuts : Bolts :: ?

(A) Nitty : Gritty
(B) Bare : Feet
(C) Naked : Clothes
(D) Hard : Soft

Direction :  In the following question,  two statements are given. You have to assume all  the
statements to be true even if they seem to be at variance from the commonly known facts and
then decide which of the given conclusions logically follows from the information given in the
statements.

92. I. All vegetables have gravy.
II. All lunch has vegetable.

(A) All lunch has gravy
(B) All gravy has lunch
(C) Both (A) and (B)
(D) None of the above

93. I. Anish Johar is a good director.
II. Directors are intelligent.

(A) All intelligent are directors
(B) Anish Johar is intelligent
(C) Both (A) and (B)
(D) None of the above

94. I. Some blues are green.
II. Pink is green.

(A) Some blue are pink
(B) Some green are pink
(C) Either (A) or (B) follows
(D) Some pinks are blues
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95. I. All boys are tall.
II. All Punjabis are tall.

(A) All boys are Punjabis
(B) Some boys are Punjabis
(C) Both (A) and (B)
(D) None of the above

Direction :  In the following question, three statements are given. You have to take the given
statements to be true even if they seem to be at variance with commonly known facts and then
decide which of the given conclusions logically follows from the given statements disregarding
commonly known facts

96. Statements: All players are spectators. Some spectators are theatres. Some theatres are 
         dramas.

      Conclusion: I. Some dramas are spectators.    II. Some players are dramas.
                                 III. Some theatres are players.      IV. All spectators are players. 
 

(A) None follows
(B) Only I and III follow
(C) Only II follows
(D) Only II and IV follow

97. Statements:   All benches are desks. Some desks are roads. All roads are pillars.
      Conclusion:   I.    Some pillars are benches.     II. Some pillars are desks.
                                III.  Some roads are benches.       IV. No pillar is bench

(A) Only either I or IV follow
(B) Only either I or IV and III follow
(C) Only either I or IV and II follow
(D) All follow

98. Statements:   All oceans are rivers. Some springs are rivers. All wells are springs.
      Conclusion:  I.     Some springs are oceans.  II. Some wells   are rivers.
                                  III. Some rivers are oceans.      IV. No well is river.

(A) Only either I or III and IV follow
(B) Only either II or IV and III follow
(C) All follow
(D) Only either I I or IV and I follow
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99. Statements:     Some bricks are trees. All trees are pens. All pens are boats.
     Conclusion:  I. Some boats are bricks.  II. Some pens are bricks. 

III. Some trees are bricks. IV. Some bricks are boats.

(A) Only I and II follow
(B) Only III and IV follow
(C) Only II and III follow
(D) All follow

100. Statements:  Some tapes are discs. Some discs are cassettes. Some cassettes are songs.  
      Conclusion:     I. Some songs are discs.    II. Some cassettes are tapes. 

III. Some songs are tapes.    IV. No song is a disc

(A) Only either I or IV follows
(B) Only either II or IV  follows
(C) Only III and either I I or IV follow
(D) Only III and IV follow

PART – II
[LAW]

101. Which statement is incorrect regarding the ‘Doctrine of Eclipse’?

(A) Doctrine of Eclipse has relevance in connection with Article 13 (1)
(B) It is the prospective character of Article 13 (1) which gives rise to this doctrine
(C) This doctrine applies to both pre-constitutional law and post-constitutional law
(D) By virtue of the doctrine, laws which are inconsistent with Fundamental Rights are

void ab initio

102. A law which disqualifies a person with more than two children from holding the post of 
Panch/Sarpanch is valid and not violative of Article 14 of the Constitution. In which of 
the following case the Supreme Court gave such decision?

(A) P.U.C.L vs. Union of India
(B) Javed vs State of Haryana
(C) Indira Jaising vs. Registrar General
(D) Mohd. Aslam vs. Union of India

103. In which case it was held that laws included in the Ninth schedule do not become part of
Constitution  as  they  derive  their  validity  on  account  of  the  exercise  undertaken  by
Parliament to include them in Ninth Schedule.

(A) I R Coelho vs. State of Tamil Nadu
(B) Indira Gandhi case
(C) Minerva Mills case
(D) None of the above
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104. The satisfaction of the President does not mean his personal satisfaction but it is 
satisfaction of the Council of Ministers. It was held in

(A) Sardari Lal vs. Union of India
(B) Shamsher Singh vs. State of Punjab
(C) Ram Jawaya Kapoor vs. State of Punjab
(D) U.N. Rao vs. Indira Gandhi case

105. Which court has jurisdiction to decide a dispute between Central Government and a State 
Government?

(A) Supreme Court under Article 131 of the Constitution of India
(B) High Court under Article 226 of the Constitution of India
(C) Supreme Court under Article 143 of the Constitution of India
(D) Inter – State Council

106. In which case the Supreme Court held that the “Non-smokers cannot be compelled to be 
victim of air pollution”?

(A) M.C. Mehta vs. Union of India
(B) Murli S. Deora vs. Union of India
(C) Satpal Dang vs. State of Punjab
(D) Sardarilal vs. State of Rajasthan

107. The power to prorogue the Lok Sabha is vested with

(A) The Prime Minister
(B) The President
(C) The Speaker
(D) The Vice- President

108. The theory of Social Engineering was propounded by

(A) Duguit
(B) Gray
(C) Pound
(D) Frank

109. Two essential elements required for possession are

(A) Mensrea and corpus
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(B) Actus and Animus
(C) Actus and Corpus
(D) Corpus and Animus

110. Which of the following does not have a common law remedy for the protection of 
environment?

(A) Controlled Negligence
(B) Nuisance
(C) Strict Liability
(D) Trespass

111. Who can make complaint under the Environmental (Protection) Act, 1986?

(A) The Central Government
(B) The Central Government or any authority or any officer authorized in this behalf 

by that Government
(C) Any person who has given notice of not less than sixty days in the manner 

prescribed, of the alleged offence and of his intention to make a complaint to the 
Central Government or the authority or officer authorized by that Government 

(D) All of the above

112. Under the Municipal Solid Wastes (Management and Handling) Rules, 2000, the term 
‘Municipal Solid Waste’ does not include the

(A) Bio-Medical Waste
(B) Commercial Waste
(C) Industrial Hazardous Waste
(D) Residential Waste

113. Which of the following case is related to Information Technology Act?

(A) Shreya Singhal vs. Union of India
(B) Lata Singh vs. State of UP
(C) Ajay Hasia Case
(D) P. Rathinam Case

114. What amounts to cyber crime against Government?

(A) Cyber terrorism
(B) Distribution of pirated software
(C) Hacking of unauthorized secret information
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(D) All of the above

115. In which case the Supreme Court held that the Preamble is not the Part of the 
Constitution?

(A) A.K. Gopalan Case
(B) Berubari Case
(C) Minerva Mills Case
(D) A.K. Antony Case

116. The feature ‘power of judicial review’ is borrowed from which of the following country?

(A) UK
(B) USA
(C) Canada
(D) Ireland

117. Who among the following holds the office at the pleasure of the President?

(A) Chairman of UPSC
(B) Attorney General of India
(C) Speaker of the Lok Sabha
(D) Comptroller and Auditor General of India

118. The fundamental right to life emanates from

(A) Article 21 and includes right to die
(B) Article 19 and does not include right to die
(C) Article 19 and 20 does not include right to die
(D) Article 21 and does not include right to die

119. In which of the following cases did the Supreme Court ruled that harmony and balance in
fundamental rights and directive principles is the basic feature of Indian Constitution?

(A) Keshavananda Bharathi Vs. State of Kerala
(B) Minerva Mills Vs. Union of India
(C) Golaknath Vs. State of Punjab
(D) Waman Rao Vs. Union of India

120. Which of the following is not included in the Right to Personal Liberty?

(A) Right not to be tortured
(B) Right to free legal aid
(C) Right to equality of wages
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(D) Freedom from arrest

121. Doctrine of precedent is also known as doctrine of 

(A) Utility
(B) Stare Decisis
(C) Laissez Faire
(D) None of the above

122. Possession leads to an inference of 

(A) Right
(B) Liability
(C) Ownership
(D) Property

123. The ___________ theory says that the Judges are mere discoveries of law.

(A) Natural Law
(B) Historical
(C) Declaratory
(D) Functional

124. Duty is a ___________ of obligation.

(A) Product
(B) Genus
(C) Branch
(D) Species

125. The “International Law” was earlier known as 

(A) Transactional Law
(B) Inter-State Law
(C) Law of Nations
(D) Transitional Law

126. Pact Sunt Servanda means 

(A) Treaties are accepted in good faith
(B) Treaties are revocable
(C) Treaties are irrevocable
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(D) Treaties are not binding

127. When two persons are descendants of a common ancestor by the same wife, they are said 
to be related to each other by 

(A) Half-blood
(B) Full blood
(C) Uterine blood
(D) None of the above

128. The obligation of the Hindu husband to maintain his wife is

(A) Co-extensive with property
(B) A personal obligation
(C) A Mutual obligation
(D) None of the above

129. Under Muslim Law ‘Dower/Mehr’ belongs

(A) Absolutely to the wife
(B) Absolutely to the wife’s father
(C) Absolutely to the wife’s mother
(D) Partly to the wife and partly to the wife’s parents

130. Condition for dissolution of a Muta Marriage 

(A) Ipso-facto by the efflux of the period
(B) By death
(C) By hiba-e-muddat
(D) All of the above

131. The maxim “Volenti Non Fit Injuria” means that  

(A) There is no wrong without a remedy
(B) From an immoral cause no action arises
(C) An act is not actionable as a tort at the suit of any person, who has expressly or 

impliedly consented to it
(D) None of the above

132. _______ propounded the ‘pigeon hole theory’.

(A) Bentham
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(B) Salmond
(C) Savigny
(D) Austin

133. The joint tortfeasors are _____________ liable.

(A) Jointly
(B) Severally
(C) Jointly and severally
(D) Neither jointly nor severally

134. Match the list I with list II and select the correct answer using Codes given below.

List I List II
A. Mens rea         1. Always not necessary
B. Motive         2. Condition precedent for any offence
C. Law presumes innocence         3. Relevant and to impute intention
D. Knowledge of the act to be        4. Until crime is proved beyond doubt

unlawful

Codes:

(A) A-1, B-2, C-4, D-3
(B) A-2, B-3, C-4, D-1
(C) A-4, B-3, C-2, D-1
(D) A-2, B-1, C-3, D-4

135. Section 82 of Indian Penal Code provides that nothing is an offence which is done by a 
child under

(A) Six years of age
(B) Seven years of age
(C) Nine years of age
(D) Eleven years of age

136. The right to private defence is based on the natural instinct of

(A) Self-preservation
(B) Self-respect
(C) Self-sufficiency
(D) Self- reliance
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137. Which of the following is correct?

(A) Proposal + Acceptance = Promise
(B) Promise + Consideration = Agreement
(C) Agreement + Enforceability = Contract
(D) All of the above
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138. In case of breach of contract, compensation can be claimed under Section 73

(A) for the proximate and natural consequences of breach
(B) for remote consequences of the breach
(C) for indirect consequences of breach
(D) All of the above

139. Match the list I with list II and select the correct answer using Codes given below.
List I List II

A. Carlill Vs. Carbolic Smoke Ball Co.         1. Offers at large
B. Fisher Vs. Bell         2. Invitation to treat
C. Tinn Vs. Hoffman & Co.                3. Quotation of Price
D. Harvey Vs. Facey                 4. Cross offers
Codes:

(A) A-1, B-2, C-4, D-3
(B) A-1, B-2, C-3, D-4
(C) A-2, B-1, C-4, D-3
(D) A-4, B-3, C-2, D-1

140. The term “retrenchment” does not include

(A) Voluntary retirement
(B) Superannuation
(C) Termination of the service resulting from non-renewal of the contract of 

employment or for health reasons
(D) All of the above

141. Mark incorrect statement in respect of Conciliation Officers

(A) They are appointed by the appropriate government
(B) They are appointed by State Government
(C) They are charged with the duty of mediating in the industrial disputes
(D) They are duty bound to promote the settlement of industrial disputes
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142. The expression “Rule of Law” denotes

(A) Rule of Nature
(B) Pervasiveness of the Sprit of Law
(C) Natural Law
(D) Positive Law

143. Transfer of power from a superior to a subordinate authority is called

(A) Delegation of Power
(B) Separation of Power
(C) Modern administration
(D) Sub-delegation

144. In which context the decision in Maneka Gandhi v. Union of India is relevant in 
Administrative Law?

(A) Right to speedy trail
(B) Right to education
(C) Rule of evidence
(D) Right to hearing

145. In which of the following cases the Supreme Court of India held that the vehicular 
pollution beyond the permissible limit violates Article 21 of the Constitution?

(A) Vellore Citizen’s Welfare Association Vs. Union of India
(B) M.C. Mehta Vs. Union of India
(C) Murali S. Deora Vs. Union of India
(D) Rural Litigation and Entitlement Kendra Vs. State of U.P

146. Life of a ‘Caveat’ petition is 

(A) 80 days
(B) 60 days
(C) 15 days
(D) 90 days

147. A Public Company must have a minimum of ______ directors

(A) 4
(B) 5
(C) 3
(D) 2
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148. Rule of Indoor- Management is an exception to the Doctrine of

(A) Ultra vires
(B) Intra vires
(C) Constructive notice
(D) None of the above

149. The expression ‘actus reus’ has apparently been coined by

(A) Lord Minto
(B) Lord Macaulay
(C) Montego
(D) Prof. Kenny

150. The examination of a witness by the Adverse Party shall be called as

(A) Examination-in-Chief
(B) Cross-Examination
(C) Re-Examination
(D) None of the above
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LLM - ANSWER KEY
TEST CODE: 610

QN. NO. KEY QN. NO. KEY QN. NO. KEY QN. NO. KEY QN. NO. KEY
1 C 26 B 51 C 76 A 101 D
2 C 27 C 52 B 77 B 102 B
3 A 28 D 53 A 78 C 103 A
4 C 29 A 54 D 79 B 104 B
5 A 30 D 55 D 80 B 105 A
6 B 31 C 56 A 81 C 106 B
7 A 32 C 57 B 82 D 107 B
8 D 33 A 58 C 83 B 108 C
9 A 34 C 59 B 84 A 109 D
10 D 35 A 60 A 85 B 110 B
11 B 36 A 61 B 86 B 111 D
12 C 37 A 62 A 87 D 112 C
13 D 38 D 63 D 88 C 113 A
14 C 39 A 64 A 89 A 114 D
15 B 40 C 65 D 90 B 115 B
16 B 41 A 66 C 91 C 116 B
17 A 42 A 67 D 92 A 117 D
18 B 43 D 68 A 93 B 118 D
19 B 44 A 69 A 94 B 119 A
20 A 45 D 70 B 95 D 120 D
21 A 46 B 71 B 96 A 121 B
22 C 47 D 72 C 97 C 122 C
23 B 48 D 73 C 98 B 123 C
24 D 49 B 74 B 99 D 124 D
25 D 50 D 75 C 100 A 125 C

CUSAT C
OM

M
ON 

ADM
IS

SIO
N T

EST  2
01

9 

CUSAT C
OM

M
ON A

DM
IS

SIO
N T

EST  2
01

9 
CUSAT C

OM
M

ON A
DM

IS
SIO

N T
EST  2

01
9 



LLM - ANSWER KEY
TEST CODE: 610

QN. NO. KEY
126 A
127 B
128 B
129 A
130 D
131 C
132 B
133 C
134 B
135 B
136 A
137 D
138 A
139 A
140 D
141 B
142 B
143 A
144 D
145 B
146 D
147 D
148 C
149 D
150 B
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